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Kamsky – Zade 1987:  White’s attack results in mate in 4-6 moves (two sacrifices are involves):
Since the retirement of Bobby Fischer one American has come close to winning the world title.  Gata Kamsky, born in Russia in 1974, showed his talent at an early age and at the age of 12 defeated GM and former USSR champion Mark Taimanov. In 1989 Kamsky emigrated to the USA.  In world championship qualifying matches he has defeated present world champion Viswanathan Anand, former champion Vladimir Kramnik and Nigel Short who lost a title match against Gary Kasparov.  His tilt at the title resulted in a loss to Anatoly Karpov 7.5 - 10.5 and he then retired from chess.  However he returned to the board in 1904 after an eight year absence.  His desire for a match for the title was thwarted by the world’s top ranked player Veselin Topalov who won their elimination final 4.5 – 2.5 in February this year. 

Vladimir Kramnik  -  Gita Kamsky 


World Championship Quarter-Finals Match 1994 


English Opening

1.Nf3 

Nf6 

2.c4 

e6

3.Nc3 

Bb4 

4.g3 

0-0

5.Bg2 

c5 

6.0-0 

Nc6  


7.d4 

cxd 

8.Nxd4 
Qe7 


9.Nc2 

Bxc3 

10.bxc3 
Rd8

11.Ba3 
d6 

12.Rb1 
Qc7  


13.Nd4 
Nxd4 

15.cxd4 
Qxc4 


15.Qd2 
Qa6 

16.Rb3 
Rb8 


17.e4(a) 
Bd7 

18.Rf3(b) 
Ba4!(c)

19.Re1 
Rbc8 

20.Bf1 
Bb5 


21.Bh3 
Qa4 

22.d5 

Rc2 

23.Qe3 
exd 

24.e5(d) 
d4! 


25.Qg5 
Re2! 

26.exf6(e) 
Rxe1+ 

27.Bf1(f) 
Rxf1+ 

28.Kg2 
Rg1+!

29.Kh3(g) 
Bd7+ 

30.Kh4 
g6

31.Qh6 
d3+! 

32.Rf4 
Qxf4+

33.Qxf4(h) 
Rh1! 

34.g4 

h6!(i)

35.Kh3 
g5 

36.Qd4 
Rg1 


37.f3 

d2! 

38.Qxd2(j) 
Bb5


White resigns

a) White’s two bishops, slight lead in development and strong centre give White compensation for the sacrificed pawn.

b) Initiating a dangerous kingside attack while Black counters on the queenside.
c) If 18…Nxe4 19.Qf4 f5 20.g4 opening lines for the White pieces.

d) If 24.exd? Re8 wins.

e) White cannot play 26.Rxe2? Qd1+ mating but this sacrifice gives White a fearsome looking attack. However Black judges he will be able to get in first.

f) Not 27.Kg2? Bf1+ 28.Kg1 Bxh3#.

g) Not 29.Kxg1? Qd1+ 30.Kg2 Qf1#.

h) If 33.gxf4 Rg4+ 34.Kh3 Rg5+! 35.Kh4 Rh5+ wins back the queen.

i) Now the kingside pawns join in the harassment of the White king (threat 35...g5+ and if 35.Qxh6? Rxh7+).
j) If 38.Qxg1 Ba4 and queens.

SOLUTION: 1.Rxf7! Rxf7 2.Rc2!! Rb1+ 3.Kh2 Nxd5 (3…Rc1 delays) 4.Rc8+ Rf8 5.Rxf8#.

